
1816  xx を実数係数の範囲で因数分解せよ。 

（解答） 

      111121 484824288816816  xxxxxxxxxxx  

      111121 2424222444848  xxxxxxxxxxx  

      1313313121 2424222444848  xxxxxxxxxxx  

    111121 2222222424  xxxxxxxxxxx  

      1313313121 2222222424  xxxxxxxxxxx  

    22222424 321321213 




  xxxxxxx  

       




 




  132132 22 xxxx  

    22222424 321321213 




  xxxxxxx  

       




 




  132132 22 xxxx  

ここで、 
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より実数係数の範囲でこれ以上因数分解することができないので、 

1816  xx  

    131311 2222  xxxxxxxx  






 




 




 




  132132132132 2222 xxxxxxxx  


